



Republic of the Philippines **VISAYAS STATE UNIVERSITY** Visca, Baybay City, Leyte

PURCHASE REQUEST

Dept./Office: RERC

Section/End-User: SUSANA B. MIÑOZA

Funding Source: General Fund - MOOE

PR#: **GF-2020-10-00014**/1300

Date: 10-14-2020

Category: Laboratory Equipment

Project Title/Code: RERC-OC

	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Beaker	рс	9	400.00	SUSANA B. MIÑOZA	3,600.00
	Specification:					
	250ml Low Form Beaker					
	Borosilicate Glass					
	Transparent Beaker					
	Thickened With Spout					
2	Beaker, Glass	pc	12	380.00	SUSANA B. MIÑOZA	4,560.00
	Specification:					
	150ml Low Form Beaker					
	Borosilicate Glass					
	Transparent Beaker					
	Transparent Beaker Thickened With Spout					
and the same of th	Transparent Beaker Thickened With Spout					
3		pc	3	250.00		750.00
	Thickened With Spout Brush for cleaning 250mL	рс	3	250.00		750.00
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask	pc	3	250.00		750.00
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask Specification:	рс	3	250.00		
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask Specification:	рс	3	250.00		
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask Specification: Bristle Color: White Bristle	рс	3	250.00		
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask Specification: Bristle Color: White Bristle Brush+Handle Length: 12"	pc	3	250.00		
	Thickened With Spout Brush for cleaning 250mL Erlenmeyer Flask Specification: Bristle Color: White Bristle Brush+Handle Length: 12" Brush Diameter: 1 3/8"		3	250.00		
and the second	Brush for cleaning 250mL Erlenmeyer Flask Specification: Bristle Color: White Bristle Brush+Handle Length: 12" Brush Diameter: 1 3/8" Brush Length: 3 1/2"		3	250.00		

	Bristle Color: White Bristle							
	Brush+Handle Length: 14"							
	Brush Diameter: 1 1/2"							
	Brush Length: 4"							
	Suitable for cleaning 500mL Erlenmeyer Flask							
-		riask						
5	Burette clamp Specification:	pc	2	1,510.00	SUSANA B. MIÑOZA	3,020.0		
	Good Quality Double Burette Clamp Can Hold 50mL Burette							
6	Burette with Glass Stopcock	рс	· ·	4,000.00	SUSANA B. MIÑOZA	4,000.0		
****	Specification:			-,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		4,000.0		
	Burette with Glass Stopcock							
	Material: Glass/Borosilicate Glass							
	Capacity: 50mL							
	For Acid							
7	Burette with PTFE Stopcock Specification:	рс	2	3,800.00	SUSANA B. MIÑOZA	7,600.00		
	Burette with PTFE Stopcock							
	Material: Glass/Borosilicate Glass							
	Capacity: 50mL							
8	Burette with Rubber Tube, stopper and dropper Specification:	рс	4-чи	3,800.00	SUSANA B. MIÑOZA	3,800.00		
	Burette with Rubber Tube, stopper and dropper							
	Material: Glass/Borosilicate Glass							
	Capacity: 50mL							
	For Base							
9	Erlenmeyer Flask	рс	9	400.00	SUSANA B. MIÑOZA	3,600.00		
	Specification:	or other family of the			***************************************			
	Material: Glass/Borosilicate Glass							
	Capacity: 250mL							
	- apavity, account							

Graduated Cylinder	рс	4	600.00	SUSANA B. MIÑOZA	2,400.0
Specification:					
Material: Glass/Borosilicate Glass					
Capacity: 250mL					
Good Quality					
11 Graduated Pitcher	рс	2	1,000.00	SUSANA B. MIÑOZA	2,000.0
Specification:					
material used: Polypropylene					
capacity: 2L					
Design: Pitcher-type (with handle)					
12 Pipette Dropper with Rubber Head Specification:	рс	2	400.00	SUSANA B. MIÑOZA	800.0
Pipette Dropper with Rubber Head					
Capacity: 10mL					
Material: Glass/Borosilicate Glass					
12PCS/PACK					
in our row					
	рс	3	300.00	SUSANA B. MIÑOZA	900.0
Reagent Bottle. Specification:	pc *	3	300.00	SUSANA B. MIÑOZA	900.0
	рс	3	300.00	SUSANA B. MIÑOZA	900.0
Specification:	pc	3	300.00	SUSANA B. MIÑOZA	900.0
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass	рс	3	300.00	SUSANA B. MIÑOZA	900.0
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask	рс	3	300.00	SUSANA B. MIÑOZA	900.0
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mt.	pc	3	300.00	SUSANA B. MIÑOZA	900.0
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask	pc	3	300.00	SUSANA B. MIÑOZA	900.0
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mt. Graduation: 1800mL	pc	3	300.00	SUSANA B. MIÑOZA SUSANA B. MIÑOZA	
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mL. Graduation: 1800mL.					
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mt. Graduation: 1800mL					
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mL. Graduation: 1800mL. 4 Stirring Rod Specification:					
Specification: With Stopper/Screw Cap Material: Glass/Borosilicate Glass Color: Clear/Transparent Flask Capacity: 2000mt. Graduation: 1800mt. Stirring Rod Specification: Stirring Rod, Standard Size					200.00

Material: Plastic (good quality) Capacity: 250mL 16 Watch Glass pack 1 1,500.00 SUSANA B. MIÑOZA 1,500.00 Specification: · Material: Glass/Borosilicate Glass · Autoclavable: Yes · Outer diameter: 75 mm (7.5cm), • fits 250 mL beakers, • 12pcs/pack, · good quality TOTAL 40,080.00 Purpose: For the continuous implementation of the various RDE, ISO, and 5S activities of RERC including maintenance of the building Checked by: Funds Available: JACOB GLENN F. JANSALIN MYRNA S. PANCITO HEAD, BUDGET OFFICE TO INTO TWG - Laboratory Equipment Requested by: Noted by: Signature: Printed Name: SUSANA B. MINOZA ROBERTO C. QUARTE Designation: END USER UNIT HEAD, PROJECT LEADER PRESIDENT, VSU